FEMOEFEAAZEERVFILAKRE

2 F52kgih _ _
No. |[K% N FE|PIRE BP1 BP2 BP3 | BP%¥ |Total [WilksFormula |WilksPoint [lIE{z
2l E #HEE  [MWUX 3] O] 42.80] 525 57.5 - . 57.5 1.4338 82.44 1
1|28 =Z=E fif] LI K 3]|O] 5000] 55 60 625 | — 62.5 1.2846 80.29 2
X F60keih _ =
No. |K% = 2F | P|B= BP1 BP2 BP3 | BP4%F|Total [WilksFormula [WilksPoint [IIB{i
3|FE fig] LI K 3O 53.60 [ 60 70 — 70 1.2176 85.23 1
6[{HHF =i IEPN 4]|O] 5370 45 50 . — 50 1.2159 60.80 2
5|FaiE EHIE{ |REILX 2|O| 5760 45 50 525 | — 52.5 1.1509 60.42 3
AEENEES fit] LLI K 2 — — — — — | —
% F60ke Bk _ _
No. |K# = FE|P|RE BP1 BP2 BP3 | BP%¥ |[Total [WilksFormula [WilksPoint [JIE{iz
IEFF HSH MK 3O 7740 75 82.5 — 82.5 0.9326 76.94 1
8|MMAF FE=x |HLUX 3O 7100 70 75 — 75 0.9852 73.89 2
7|8E F04K B K 11O 71.90] 40 45 50 — 50 0.9769 48 85 3
5 F56keiR _ —
No. [K% RF FE|PIBE BP1 BP2 BP3 | BP%¥ |Total [WilksFormula [WilksPoint [IE{iz
10{/MB %R fif] LI K 3]O] 5270 110 120 — 120 1
55 F60ke#k _ _
No. |K% = 2F | P &= BP1 BP2 BP3 | BP4%¥F|Total [WilksFormula [WilksPoint |[IIB{i
147 Kig fif] LI 2K 11 Of 5960 85 90 . — 90 1
12|1=& &7 fif] LI K 3O 5850] 90 95 - 95 2
13[7kH ik B ma K 2l O 57.2?] 110 120 — 120 3
11wl &S B = K 3|Of 5720 55 65 70 — 70 4




B F67.5keik

No. |K# KE 2% | P[gE BP1 BP2 BP3 | BPF: |Total |WilksFormula |WilksPoint |IBAL
20|57k B A ITEEX 4/ O| 67.00] 155 165 — 165 1
22|the B — R EEK 2| O 6490| 125 135 — 135 2
24K 10 =16 fif] LI K 4] O 66.80 : 1325 | — [ 1325 3
16|FEF FH fif] LI K 3O 6450] 120 127.5 — | 1275 4
19K BAER [MX 2 61.40 [ 120 125 — 125 5
21|18 —# B B K 4] O] 6460] 85 95 975 — 975 6
23|IUE EZ FiPN 1 65.80 | 75 85 95 — 95 7
17(HAN @ fif] LI K 2 67.00 80 90 . — 90 8
18[8E BE fm K 2 61.70 | 70 80 875 | — 87.5 9
15|# F EA fif] LI K 3 — — — — — —

5 F 75kefk _ _

No. |K# N FE|P[K&R= BP1 BP2 BP3 | BP%¥ [Total [WilksFormula [WilksPoint [JIE{iL
25| Kf8 {E5T PN 4/ O| 6950] 105 115 120 — 120 1
28|# mth 5PN 11 O] 7430 110 120 — 120 2
31| BRE ] LU K 2l O] 68.90] 100 110 — 110 3
27\1liEE & FESEN 2| O] 69.00] 75 90 — 90 4
0|=FH HAEY |BRFEE 1 69.40 | 60 70 — 70 5
29| N BERA PN 1 72.30 | 55 70 — 70 6
26| KB Bk TN 2 — — — — — —
32|&E FEH ] LU K 3O — — — = = —

5 F82.5ke Rk _ _

No. |[KK# KEF FE|P[EBs BP1 BP2 BP3 | BP4¥|Total |WilksFormula |WilksPoint |JIE{iZ
B|=F & fif] LI K 3O 7590]| 215 225 235 — 235 1
35(#% HF PN 2| O 8170 180 190 200 — 200 2
33|/ _F0# REFE 4O 7720 100 145 1525 | — | 1525 3
37| =l thts FITES 2 77.20 [ 110 115 — 115 4
4| FE PN 11 O] 8040 100 115 — 115 5




5 F90kg#k

No. |[KE#£ RE FE|P[EBs BP1 BP2 BP3 | BPH: |Total |WilksFormula |WilksPoint |IB{Z
39|+ EAR ] LUK 4/ O| 87.10| 190 200 - — 200 1
38[[IH ;¥ ] LI K 3] O] 84.90 90 95 — 95 2

5 F 100ke#k N _

No. |K# RE FE | P|&RE BP1 BP2 BP3 | BP%¥ |Total [WilksFormula [WilksPoint [JIE{i
40(f2H FE it LI 2K 3O 9950 145 - 145 1
IMETEETA ] LUK 2|0 — — — — — —

5 F100kg Bk _ _

No. |KE#£ KF FE|P[EBs BP1 BP2 BP3 | BP4¥|Total |WilksFormula |WilksPoint [JIE{iZ
42|FiE LA BN 4 O] 131.20 205 | 2175 2175 1
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